=

Z Vg 2 5k olm AYUR

oo

83

1 14
D 1.092 @) 15 ® 1.208 @ 1% ® 155

~&B \

1
1-=1.5
@ 2

14
@ 12—5—1.56

83
1— =1.664
® T 66




11 0.45 l
25’ 716

> =

> Hehl 045

11 7

— =0.44, — = 0.4375

25 0 " 16 Uies

11
0.45>—>1

25 16




old oA 0416 W Fof] 4 & Lprojof & AL HE A4St
o o 45 F5HAL 04162 HEY Hol 8o] Lhg5Utt HZ 7|
Al4tsta LupQlz] ALoHAl Q.

» &

> =g 037

8

ofd 5[ et sid
[ Ix4+0416=38

[ ]=(8-0416)+4
[ ]=7584+4=189

sk2A Axtet A
(1.896 — 0.416) +4 = 1.48 -4 =0.37




Aol Zole 2@ om GU7H?

HZ) = (AANZR] &) = 2 - (IR)
=128+2-38




